M5Stack Unit Roller485 Protocol(Setting&Control)

All returns start with OXAA 0x55

V1 (FW Version)

2024,
Bytes 0 1 2 3 4 5 6 7 8 9 Y 1 12 B * note
Type o
e | co
mman Cmd D Motor 1D [Datal Byte0  [Datai Byte!  |DatalByte2 |DatalByte3 |Data2 ByteO |Data2 Bytel |Data2 Byte2 |Data2 Byte3 |Data3 ByteO [Data3 Bytel |Data3 Byte2 |Data3 Byte3 |CRCS
Motor switch | 0400 D Output 0 0 0 0 0 0 0 0 0 0 0 cRes
Return 0x10 D Output 0 0 0 0 0 0 0 0 0 0 0 CRCB
Mode setting
0x01 D Mode 0 0 0 0 0 0 0 0 0 0 0 CRCB
4 Encoder Made
Retum ot D Mode 0 0 0 0 0 0 0 0 0 0 0 cRes
0406 D 0 0 0 0 Rekraln 0 0 0 0 0 0 0 CRC8  |Release Jam protection; Send 1 to unprotect
protection
Retum 016 D 0 0 0 0 feease Jam 0 0 0 0 0 0 0 CREB
protection
Savetofiash | 007 D | Savetoflash 0 0 0 0 0 0 0 0 0 0 0 CRCB |Save tofash; Send 1save parameters to fssh
Retum o7 D | saetofash 0 0 0 0 0 0 0 0 0 0 0 cRes
Setting
Encoder value(n32_)
008 ID | Encoder-byte0 | Encoder-byte1 | Encoder-byte2 | Encoder-byte3 0 0 0 0 0 0 0 0 CRCB |Encoder = Encoder-byte0 + Encoder-byte 256 + Encoder-byte2 * 65536 + Encoder-byte3 *
16777216
Return 0x18 D Encoder-byte0 | Encoder-bytel | Encoder-byte2| Encoder-byte3 0 0 0 0 0 0 0 0 CRCB
Button switching {4 5 D i 0 0 0 0 0 0 0 0 0 0 0 CRCB  |0: OFF *; Press and hold for 55 to switch modes in running mode,
mode enable switching
Buttonswitching | ,4q [ Bution 0 0 0 0 0 0 0 0 0 0 0 CRe8
mode enable switching
RGB Mode:
RGB 0, Sys-default
(RGB Modeand | o o) D RGB-B RGB-G RGB-R RGBMode [RGB Brightness| 0 0 0 0 0 0 0 CReg |V Userdefine
RGB Brightness can
be save to flash) RGB Brightness:
0-100
Return Ox1A. D RGB-B RGB-G RGB-R RGB Mode [RGB Brightness| 0 0 0 0 0 0 0 CRCB
me 008 D 48589 0 0 0 0 0 0 0 0 0 0 0 cres [BPS:
(can be saved to > 0,115200bps; 1, 19200bps; 2, 9600bps;
Retum oc D 48589 0 0 0 0 3 0 3 0 3 0 3 cRes
) -
(canbesaved to | 0K0C D 4851 0 0 0 0 0 0 0 0 0 0 0 cres [0
0255
Retum oiC D 48510 0 0 0 0 3 0 3 0 3 0 3 cRes
Motor Jam Motor Jam Protectior:
O 1 | protection 0 0 0 0 0 0 0 0 0 0 0 CFE |o.Disable; 1, Enable
Return 0x1D D Kotoary 0 0 0 0 0 0 0 0 0 0 0 CRC8
Protection
Motor Posiion Overl Motor Position
Range Protection [ o oo o |l Y ) Y ) Y ) Y ) 0 ) 0 crcs |Motor Posiion Over Range Protection:
(can be saved to 0,Disable; 1, Enable
Protection
flash)
Motor Position
Retum 3 D | OverRange 0 0 0 0 0 0 0 0 0 0 0 CRes
Protection
Speed 1) = Speed Sefting-byte0 + Speed Setfing-byte! * 256 + Speed Sefting-
byte2 * 65536 + Speed Setting-byte3 * 16777216
Actual Speed Setting = Speed Setting/100
: il . 59 -2100000000-2100000000
020 D | specdyte0 | Specarbytel | Speedyte2 | speed-ytes [ M Curent  Mex Curntr | Max Curents M”*é:;’;”” 0 0 0 0 cRes
X100 Int A A A Max Current = Max Current-byted + Max Current-byte1 * 256 + Max Current-byte2* 65536 +
Max Current-byte3 * 16777216
Actual Mex Currert = Max Current/100
range: -120000-120000
Max Currentl- | Max Currentl- | Max Currentl- | Max Currentl-
Speed Retum -y oytel by I A
Specd et 030 D | speed-byed | speed-oyet [ speedbyen | speed-ytes | M1 o e s 0 0 0 0 cRes
configu
ation
PA/D(ING2 b:
(5;7::?!‘: oo o | Pooooo- | poxioooco- | pxiooooo- | pxioooco- | r-xi0000000- | 1-x10000000- | -x10000000- | -xi0000000- | Dxi0000n- | Doxi0oooo- | Doxioooon- | oxionooo- | o [0 PIDOME0 PID-BY1 256 + PD-yte2 65536 + PID-oyte3 1677726
flash) D0 ] P By D ] P By G bytel g By For example; P=0,00001, P setting value=0,00007100000=1, P-byte0=1, P-byte1=0, P-byte2=0,
P-byte3=
Return 031 D P-byted P-bytel P-oyte2 P-byte3 T-byted T-bytel Tbyte2 I-byte3 D-byted D-bytel D-byte2 D-byte3 CRCB
Position Setting(nt32_Y = Position Seting-byte0 + Position Setting-bytel * 256 + Position
Setting-byte2 * 65536 + Position Setting-byte3 * 16777216
[Actual Position Setting = Position Selfing/100
FostonfMe | o Positon- | Positon- | Postion- | Position- | Max Current- | Max Currentl- | Max Currenti- | Max Currerti- ) ) ) ) chep | 100000000-2100000000
X100 Int =D ) Eyd i D20 ) Eyd i Max Current = Max Current-byte0 + Max Current-byte1 * 256 + Max Current-byte2 * 65536 +
Max Current-byte3 * 6777216
Position Actual Max Current = Max Current/100
range: -120000-120000
Return 032 D Position- Position- Position- Position- Max Currentl- | Max Currentl- | Max Currentl- | Max Currentl- 0 0 0 0 CRC8
byte0 bytel byte2 byte3 byted byte2 byte3
PA/DUINGZ b
0 o | Pxooooo- | poxioooo- | pxioaooo- | pxioaooo- | r:xiooooooo- | 1-xioooooao- | -xi0000000- | -xi0000000- | Doxioooo- | Doxioooco- | Doxiooooo- | Doxionoco- | o, [P0 PDENEO PO 256 + PID-byie2 * 65536 + PID-oyteS 16777216
byted bytel byte2 byte3 byted bytel byte2 byte3 byted bytel byte2 byte3 For example: P=0.0000%, P settng value=0.00001100000=1, P-byted=1, P-byte1=0, P-byte2=0,
P-byte3=0
Retur 033 D P-byted P-bytel P-oyte2 P-byte3 T-byted T-bytel Tbyte2 I-byte3 D-byted D-bytel D-byte2 D-byte3 CRCB
Current Setfing(nt32_{) = Current Setting-byte0 + oyte1~ 256 + Current
Current | Current Curent- | current- | curent- | current- Setting-byte2 * 65536 + Curert Setting-byte3 * 16777216
mode X100 Int B2 o byted bytel byte2 byte3 0 0 0 0 0 g 0 g CREB L actual Current Setting = Currert Setting/100
configu range: -120000-120000
atio o o o Curent- | Current- | Cument | Currert- 5 5 5 5 5 5 5 5 .
byte0 bytel byte2 byte3
(1) CRCS:
NSt erc (wini8.t data, wint_t lon)
uints_t cre, i
ere = 0500
while(len—)
ere "= Hatars
for(i = 0:1 < 8:1+4)
if(cre & 0x01)
ere = (ore » 1) " 0sBe
else cre = 1;
)
(2) A1 roturned nessages begin with OM 0535, which are not. included in the CRC chck




M5Stack Unit Roller485 Protocol(Readback) Al retums start with OxAA 0455 VIEW Versor)

2025/6/3
bytes |0 1 2 3 [ 4 5 [ 6 7 | 8 9 10 n [ 2 13 4 15 16 17 note
Motor |Datal |Datal |[Datal |[Datal |Data2 |Date2 |Data?2 [Date2 |Data3 |Data3 |Data3 [Date3
D
command™ [ b |pyte0 |oyie1 [Byte2 [Byte3 [Byie0 [Byte1 |Byter [Byte3 |Byted |Bytel |pyter |Bytes |P°* P2 [Pt |CRCE

Readback 0 0x40 ID 0

Speed Readback = Speed Readback-byte0 + Speed Readback-byte1* 256 + Speed Readback-byte2 * 65536 +
Speed Readback-byte3 * 16777216
Actual Speed Readback = Speed Readback/100

Position Readback = Position Readback-byte0 + Position Readback-bytel * 256 + Position Readback-byte2 * 65536
+ Position Readback-byte3 * 16777216
Actual Position Readback = Position Readback/100

Current Readback = Current Readback-byte0 + Current Readback-byte1 * 256 + Current Readback-byte2 * 65536 +
Current Readback-byte3 * 16777216
Actual Current Readback = Current Readback/100

Position | Position | Position | Position | Current | Current | Current | Current

Speed | Speed | Speed | Speed
Return 060 | D |Readbac|Readbac| Readbac| Readbac| Re2dbac| Readbac| Readbac| Readbac) Readbac| Readbac Readbac) Readbact 1. | ot | Ermor | cres

k- k- k- k- k- k- k- k-
kooyte | kebytel | kebyte2 | kbyte3 | | g | byte | bytes | byteo [ byter | byte2 | bytes Mode

1: Speed Mode
2: Position Mode
3: Current Mode
4: Encoder Mode

Status:
0: Standby; 1: Running; 2: Error

Error:
1: Overvoltage; 2: Stalled; 4: Over Range

VIN X100 = VIN X100-byte0 + VIN X100-byte1 * 256 + VIN X100-byte2 * 65536 + VIN X100-byte3 * 16777216
Actual VIN = VIN X100/100

Temp = Temp-byte0 + Temp-byte1 * 256 + Temp-byte2 * 65536 + Temp-byte3 * 16777216

Encoder Counter = Encoder Counter-byte0 + Encoder Counter-byte1* 256 + Encoder Counter-byte? * 65536 +

VIN VIN VIN VIN ~ . ~ _ | Encoder [ Encoder | Encoder | Encoder RGB Encoder Counter-byte3 * 16777216
Return 061 [ o | xi00- | xw00- | xi0- | x100- Tbe’”e% Tbemg Tbe’”epz Tbem; Counter-|Counter-|Counter-|Counter- &CG):Q Brightne[ 0 | CRC8 |Can only use in Encoder mode
byte0 | bytel | byte2 | byte3 | 2 e e V€3 | byte0 | bytel | byte2 | byte3 s
RGB Mode:
0, Sys-default
1, User-define
RGB Brightness:
0-100
Readback 2 0x42 D 0 CRC8
Speed- | Speed- | Speed- [ Speed- Speed- | Speed- | Speed- [ Speed- P/I/D(uint32_t):
Speed-I-| Speed-I- | Speed-I-| Speed-I-
p- p- p- p- D- D- D- D- PID = PID-byte0 + PID-byte1 * 256 + PID-byte2 * 65536 + PID-byte3 * 16777216
Rewrn 032 110y 100000-{x100000-{X100000-{X100000- gg?g&i% gé?ssg gg?ggig g&?s;zg x100000-{x100000-{x100000-{x100000-| RCBB | REB-G [ RGB-R | CRCS
byteO | bytel [ byte2 | byte3 byte0 | bytel [ byte2 | byte3 For example: P=0.00001, P setting value=0.00001*100000=1, P-byte0=1, P-byte1=0, P-byte2=0, P-byte3=0
Readback 3 0x43 D 0 CRC8
Position-| Position-| Position-| Position- | Position- | Position-| Position- | Position- | Position- | Position- | Position-  Position- Button P/I/D(uint32_f):
P- p- p- p- I- I- I- I- D- D- D- D- switching PID = PID-byte0 + PID-byte1 * 256 + PID-byte2 * 65536 + PID-byte3 * 16777216
Rewrn oS 0 fx100000-x100000-{x100000-{X100000-| X100000 | X100000 | X100000 | X100000 |X100000-|X100000-|X100000-|x100000-| 485D | 485 BPS " 1| CRES
byte0 | bytel | byte2 | byte3 |00-byte0]00-bytel|00-byte2[00-byte3| byted | bytel | byte2 | byte3 enable For example: P=0.00001, P setting value=0.00001%100000=1, P-byte0=1, P-byte1=0, P-byte2=0, P-byte3=0

(1) CRC8:

uint8_t cre8(uint8_t *data, uint8_t len)

(
uint8_t cre, i;
cre = 0x00;

while(len—)

cre "= kdatatt;
for(i = 0;i < 8;i++)
{

if (cre & 0x01)

{

cre = (cre >> 1) 7 Ox8c;

else cre »=1;
}
}
return cre;

}

(2) FiIEEI S AOXAA 0x55FF 3k, 0xAA 0x55 A% 5CRCH:S:




. ] V1 (FW Version)
M5Stack Unit Roller485 Protocol(485->12C) Al returns start with OxAA 0x55 055
bytes |0 1 2 3 [ 4 5 [ 6 7 | 8 9 10 n [ 2 13 4 15 16 17 18 19 20 21 22 23 24 note
Motor |Datal |Datal |[Datal |[Datal |Data2 |Date2 |Data?2 [Date2 |Data3 |Data3 |Data3 [Date3
D
command™ (™" b |pyte0 |oyie1 |Byte2 [Byte3 [Byie0 [Byte1 [Byte2 [Byte3 |Byted |Bytel |Byter |Bytes |P°>* D@3 |Pate6 [CRCE
i2c reg address len:
1 51,2
5 creg |2creg |ioc reg . 0, 1 byte address; bytes address
12C Read 0x60 ID addrcess address [address [address ! Clena 9] cres B .
len  [oyteso |bytest i2c reg address:
1.i2c reg address len = 0, i2c reg address = i2c reg address bytesQ
2. 12c req address len = 1, i2c req address = i2c req address 50 + (i2c req address bytes1 * 255
Return od0 | o |Sread) g fiedaa) 0 0 | dota0 | daten | data2 | cote3 | cated | datas | cotas | cata7 | dates | datas | datato | catatt | cater2 | datats | atars | catars | cres |12 9atalen: The maximum number of bytes to be read Is 16
success len is read success: 1, Read successful; 0, Read failed
i2c reg address len:
oo | ecreg | icreg | 2ceq . 0, 1byte address; 1, 2 bytes address
12C Write 0x61 ID address [ address | address 0 data0 | datal | data2 | data3 | datad | data5 | data6 | data7 | data8 | data9 | datal0 | datall | datal2 | datal3 | datal4 | datals [ CRC8 |
address | = bytesO | bytest len 12c reg address:
1.i2c reg address len = 0, i2c reg address = i2c reg address bytesQ
2. i2c req address len = 1, i2c req address = i2c req address bytesQ + (i2c req address bytes1 * 255)
2CReadRaw | Oxé2 | o | [ |icdata
address len
Return o2 | i | Bred] o [iedal 0 0 | date0 | datar | cote2 | dete3 | dates | dates | date | deta? | deted | dated | dater0 | detamt | datenz | dates | detata | dotats | cres [2C98talen: The maximum number of bytes o be read is 16
success len is read success: 1, Read successful; 0, Read failed
is stop bit:
12C Write Raw | 0x63 | ID 2c IRl sstop g 0 0 | dota0 | data | cata2 | date3 | datad | dates | cata6 | data? | dates | datad | datato | datatt | datat2 | datats | datats | datats | cres |& Nave nostopbit
address [ len bit 1, have stop bit
is write . . . By "
Return 0x73 D | quccoss | CRCE is write success: 1, Write successful; 0, Write failed

{

(2) BRI B LL0xAA 0x55TFk, OxAA 0x55 A%

(1) CRC8:
uint8_t crc8(uint8_t *data, uint8 t len)

uint8_t cre, i:

cre = 0x00;
while (len—)
cre "= *datatt;
for(i = 051 < 8;i++)

if (cre & 0x01)
{

cre = (cre >> 1) 7 0x8¢;
else cre »>=1;
}
}

return crc;




